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(2) Figures to the right indicate marks allotted to each question.

Explain the meaning and characteristics of Economic Development. 7
OR

Discuss ‘The Physical Quality of Life Index’ (PQLI) measure as an indicator of

Economic Development.

Write answer in brief : (any two) 4

(1) What is the difference between ‘Economic Growth’ and ‘Economic
Development’ ?

(2) Explain the importance of *Standard of Living Index’.
(3) What is Gender Index ?

Write answer in one or two sentences : (any two) 3
(1) Which criteria are included in measuring Human Development Index ?

(2) What is ‘Human Poverty Index’ ?

(3) Give the formula of ‘per capita income’.

Compare the Harrod and Domar Models of Economic Growth 7
OR

Explain with diagram the Hirschman’s Model of Economic Development.

Write answer in brief : (any two) 4

(1) What is Economic Model ?

(2) Write assumptions of Harrod Growth Model.

(3) Explain the concept of Social Overhead Capital (SOC).

Write answer in one or two lines : (any two) 3
(1) What is Natural Growth Rate ?

(2) What is Disguised Unemployment ?

(3) Meaning of Balanced Growth.
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3. (A) Explain the concepts of ‘Relative Poverty’ and ‘Absolute Poverty’. 7
OR

Explain types of Unemployment.

(B) Write answer in brief : (any two) 4
Explain —
(1) Causes of High Birth Rate in developing countries.
(2) Indicators of Poverty.
(3) Economic effects of Population Growth.

(C) Write answer in one or two lines : (any two) 3
(1) In which stage there is population explosion in the theory of demographic
transition ?

(2) Which factors are determine Human Poverty Index ?
(3) What is Unemployment ?

4. (A) Explain the meaning of pollution and discuss its causes. 7
OR
What is income inequality ? How can be measured income inequality ?

(B) Write answer in brief : (any two) 4
(1) Explain the meaning of sustainable development.
(2) State the causes of Regional inequality.
(3) What is dualism ?

(C) Write answer in one or two lines : (any two) 3
(1) What is Air Pollution ?
(2) What does bio-diversity mean ?
(3) What is carbon-credit ?

5. Select the correct option from the given options : 14
(1) Which concept is qualitative ?
(A) National Income
(B) Per Capita Income
(C) Economic Growth
(D) Economic Development

(2) In which class India is included in classification of Human Development Index
(HDI) ?
(A) Highest Human Development Index
(B) More Human Development Index
(C) Middle Human Development Index
(D) Low Human Development Index
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What is the status of women in comparison of men in most of the countries ?
(A) High

(B) Low

(©) Equal

(D) Can’t be say

Which country in the world is ranked first according to PQLI ?
(A) US.A

(B) U.K.

(C) Sweden

(D) China

By which symbol Natural Rate of Growth is represented ?
A G

(B) Gw

(©) Gn

(D) GG

Direct Productive Activity (DPA) is concerned with
(A) Power

(B) Transport

(C) Industry

(D) Agriculture

Who advocated balanced growth strategy ?
(A) Regnar Nurkse

(B) Singer

(C) Hirschman

(D) Paul Streeten

Mostly economist have been accepted which measure for poverty ?
(A) Daily Income

(B) Ratio of Calories

(C) Ratio of Property

(D) Size of Family

The concept of poverty line was introduced by
(A) Amartya Sen

(B) Dr. Mehboob-Ul-Haque

(C) Lord Boil Ore

(D) Keynes

Which country has first rank as measure of population ?
(A) India

(B) China

(C) USA.

(D) Indonesia
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(11) Which unemployment is a saving potential according to Nurkse ?
(A) Seasonal
(B) Educated
(C) Disguised
(D) Open

(12) In which year Kyoto Summit was held ?
(A) A.D.1995
(B) A.D.1996
(C) A.D.1997
(D) A.D.1998

(13) Which State stands first in India in terms of irrigation ?
(A) Punjab
(B) Haryana
(C) Gujarat
(D) Tamil Nadu

(14) Which type of inequality is there if the bottom 20% of the population gets 5% to
7% share in national income ?
(A) Low
(B) Medium
(C) High
(D) Extreme
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